EIZATQriKEZ EZETAZEIZ A’ AYKEIOY - MAIOZ 2021
AITAIKH TAQZzZA

Circle the letter of the correct answer among the four choices given. There is only
one correct answer.

PART | - GRAMMAR

1. Thesecards by the President, so we can’t send them yet.

A. haven’t signed C. arenotsigning

B. will not sign D. haven’t been signed

2. Mary ____ foran hour when | phoned her.

A. has been sleeping C. slept

B. had been sleeping D. issleeping

3. My father thought we were out of town. Little _ we had organized a surprise
party for him.

A. did he know C. was known

B. heknew D. hashe known

4. A: Are you still looking for a job?

B: I'm afraid so. Iwishl __ one soon.
A. amfinding C. willfind
B. could find D. had found
5. Myriam ___ to eat out a lot before she had a baby.
A. isused C. used
B. wasused D. hadused




6. A:lcan’t find my car keys.

B: ___ themin the car by mistake?
A.  Could you have left C. May you have left
B. Could you leave D. You may have left

7. A: Have you finished writing your speech?

B:Yes.| ___ my teacher to help me with it.
A. had C. did
B. got D. made
8. What was the name of the hotel __ ?
which the travel agent C that the travel agent recommended
recommended it it
B. recommended the travel agent D. the travel agent recommended
9. Christinasuggested _ to the new ltalian restaurant.
A. togo C. going
B. wustogo D. go
10. Tom would prefer _ partin the school play.
A. not to take C. nottake
B. not taking D. he wouldn’t take
11. By thetimeshe __ theairport,she _ for 15 hours.
A. leaves ... will work C. left... was working
B. leaves ... will have been working D. left... has been working




12. If they a map with them, they now.

hadn’t brought ... wouldn’t have
been lost

C.

had brought ... wouldn’t be lost

B.

brought ... won’t be lost

D.

bring ... couldn’t be lost

13. You can borrow my car as long as

careful with it.

A. youare C. youwere

B. youwill be D. yoube

14. When | was younger, | much longer hair.

A.  was having C. usedtohave

B. would have D. have had

15.Since he __ to a foreign country before, he is thrilled about going to London.

A. hasnot been C. hasnot gone

B. didnotgo D. s notgoing

16. The stain on your shirt should __ this spray immediately, __ your shirt will
be ruined.

A.  remove by ... so C. removed by ... so that

B. beremoved with ... otherwise D. beremoving with ... because

17.Jess __ they didn’t go by ship because he gets seasick.

A.  had rather C. would rather

B.  would better D. had better




18. Jill said she had been to Brazil .

A. before ayear

C. aprevious year

B. previousyear

D. the year before

19. She is allergic to nuts, so she asked me

almonds on the cake.

A. nottoput

C. not putting

B. toputnot

D. donot put

20. You can borrow my jacket

you bring it back tomorrow.

A. otherwise

C. until

B. provided

D. supposing

PART Il - VOCABULARY

21. Stockholm, which is the most populous city in Sweden, has about 1.6 million

A. habitats

C. inhabitants

B. colleagues

D. residues

22. My 12-year old niece is a typical , who argues with her parents all the time.
A. adolescent C. infant
B. adult D. toddler

23. The results of the examination will be posted online

A. recently

C.  Dbarely

B. shortly

D. commonly




24.The library hasa ____ to the English Journal of Young Adult Literature.

A. receipt C. prescription

B. postscript D. subscription

25. The new airport was built onthe ___ of the city.

A. limits C. outskirts

B. surroundings D. suburbs

26. When | realised | was not satisfied with my first job, | decidedto __ andfind a
better one.

A.  resign C. refuse

B. retire D. pause

27. Credit card holdersare _ to arefund if the concert is cancelled.

A. allowed C. qualified

B. entitled D. permitted

28. My husband had a fever,sowe hadto __ adoctor.

A. consult C. advise

B. treat D.  prescribe

29. It is not worth keeping the old computer — this technologyis _ now.

A. cutting-edge C. vintage

B. contemporary D. obsolete




30. Our teacher the importance of participating in class.

A. responded

C. reiterated

B. retained

D. referred

31.ltisnot ____ to have security cameras in every single street of the city.
A. potential C. feasible

B. capable D. confidential

32.0ne ofthe ___ of working at a pizza restaurant is the free food.

A. addictions

C. perils

B. perks D. demands

33. Scientists claim that our breakfast needstobe _ in order for us to have
enough energy for the rest of the day.

A. substantial C. light

B. heavy D. strong

34. Submitting their work on time was
the course.

if law school students didn’t want

A. optional ... to pass

C. redundant ... to meet

B. compulsory ... to fail

D. challenging ... to take

35. Young children language at an amazing pace.

A.  pick

C. acquire

B. received

D. grip




36. She is working as a(n) to a hairdresser.

A. tutor

C.

employer

B. apprentice

D.

staff

37. 1 don’t know what this note says — Tim’s handwriting is

A. illiterate

C.

disqualified

B. inedible

D.

illegible

38. After being released from prison, Jill was on

for three months.

A.  supervision C. consideration

B. surveillance D. probation

39. There was a school and a supermarket the of their new house.
A. on..property C. in...suburbs

B. in...vicinity D. at.. destination

40. She graduated from Medical School following __ her mother’s

A. in... footnotes C. in..footsteps

B. on..steps D. in.. marks




PART Ill - WRITING

On Monday, 19™ April, 2021, NASA’s Ingenuity Mars Helicopter became the first
aircraft in history to make a powered, controlled flight on another planet. While this
was an important milestone for science, there are still those who believe that
exploration of space is a waste of valuable time and money. They claim that we have
other important problems, such as poverty and the environment, to deal with on
Earth.

Write an article for the school magazine where you state your opinion on the above
matter and give two reasons to support it.

Your article should be between 180 — 200 words. It should have a title, a clear
introduction, a development of your main ideas, and a suitable conclusion.







NEA EAAHNIKA

MEPO:Z |I. EPQTH2EIZ NOAANANAHZ ENIAOIHZ

2t napakatw epwtioels 1-10, va BAAeTe 0 KUKAO TO yPAUUO TTOU QVTLOTOLXEL OTN
uovadikny cwotn anavrnon yla Kade pia epwtnon.
Movadecg 30

1) Npoxwpa euBeia, otpihe aplotepd oto SevlteEpPo OTEVO, KOYE TAXUTNTA HETA TN
otpodn, koita d&€la oou, Ba beLg To oritL:

a. TIAPOTOKTLKN oUVSEDn
B. UTIOTOKTLKA oUVEEDn
Y. aoUVEETO oxnUa

6. avTiBeTikn ouvdeon

2) Adou nBeheg va dpuyelg, yati dev to {NTNOEC;

a. XPOVLKN — TEALKN
B. XPOVLKN — BOUANTLKN
Y. QULTLOAOYLKN — TEALKA

6. QLTLOAOY KN — BOUANTLKA

3) Qaivetal OTL N TLWWPLA TOV EKAVE TILO TPOCEKTIKO 0TN cUUNEPLDOPA TOU.

a. €LOLKN — QVTIKELLEVO
B. €L8LKN — UTtOKE(EVO
2 TIAQYLOL EPWTNHOTLKA — AVTIKEILEVO
6. TIAQYLOL EPWTNMOTLKA — UTIOKELUEVO

4) e mola Ao TIG MAPAKATW TIEPLOSOUG UTIAPXEL ALTLOAOYLK TTpOTAOoN;

a. Tov eida kaBapad tnv wpa ou dtéoyile Tn Aewdopo.
B. AumriOnka oAU mou Tov l6a o€ TETOLA KOTAOTAON.
V. Tpopage T000 MOAU, IOV £XA0E TA AOyLA TOU.

6. Autol eivat ot padntéc mou kabBuotépnoav.

5) «Xpuod» NAEKTPOVLKA TTaLyVidia: Tt SNAWVOUV Ta ELOAYWYIKA;
. gubu Aoyo
B. ElpwVvela
V. opoloyia
6. peTadopLko Adyo

6) H .......... NG ETUTPOTING TpayHaTonmolOnke He tnv eAmida OtL otn SLAPKELX TNG
ouvedpiaong Ba mapatnpnOst ............ anoPewyv avapeca ot Suo TTAEUPEG.
. oUYKALoN — oUYyKANoN

B. oUYKANGN — cUYKALON
V. oUYKANGon — ocUYKANGN
6 oUyKALon — oUYKALON
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7) Ot .. Alpveg mpoUMOBETOUV TNV KATAOKEUN PPOYHATWY PE TIOAU QUOTNPEC
............... npodlaypadeg.

a TEXVNTEG — TEXVLKEG

B. TEXVLKEG — TEXVNTEG

Y TEXVLKEG — TEXVLKEG

6 TEXVNTEG — TEXVNTEG

8) Ta KaBRKoVTA TOU WG ............. TIWANCEWV €lval TIOAU CUYKEKPLUEVAL.
a. unevBuvog
B. umevBuvou
Y. unevBuvo
6. umevBuva
9)Av...... TWP, e Sduvatotnta va dlekdiknoelg to BpaPeio.

a beUyeLg — XAVELG

B. €deuyeg — Oa €xeLg xaoel
Y duyelg — Ba YaoeLg

6 duyelg — Ba £xaveg

10) Aev yvwpilw 1o B€pa, emopuévwe dev Ba amavtriow: Tt SNAWVEL N UTIOYPOUULOUEVN
Agn;

a. attia

B. CUUTEPOOUA
2 OKOTIO

6. XpOvo

11



MEPO?2 Il. KEIMENO KAI EPQTHZEI2

Mia amo T o ouxveg Stadpwvieg pe piloug and tnv Eupwnn adopd oto {ATHUA TNG
HETAYAWTTLONG. 2TLG TIO TIOAAEG EUPWTTAIKEG XWPEC, OL TNAEOTTIKEG OELPEC AAAA Kall Ol
Kwvnuatoypadlkeg Tatvieg dev mpoBarlovtal pe UTOTITAOUG, av lvat og AAANn yAwaooa,
oAAQ petayAwTttiopéveg. O Beatng, dnAadn, dev akovel TIG pwVEG Twv nBomolwv ouTe
Toug awBevtikoug Staldyouc. Ki evw og €vav EAAnva auto akouyetal eEwPPEVIKO, yLa

ekelvoug elval amoAuta AoyLko, TaLpLaoTo Kat BoALko!

H aAnBela eival otL n ovyxpovn Yndlakn texvoloyia Sivel Tn Suvatotnta yla pia
ApTLO Ao TEXVIKAG TTAEUPAG HeTayAwTTion. O cuyXPOVIOUOC AVAUECO OTA TPAYLATIKA
Aoyla mou ekdépouv oL nBormolol Kal oe 6oa akoUeL o Beatn¢ otn yAwooa Tou gival
TEAELOC KaL TO (610 LoYUEL yla OAOUG TOUC NXOUC TNG Talviag. Oswpntikd, av dev eiyapue
Kapia aA\n mAnpodopia yla tn oepd 1 TV tawia, n petayAwttion Ba pnopouoe va

TIEPACEL ATIAPATHPNTN.

OAa autd, 6pwg, dev cuvdéovtal e TNV oucia tou mpoPAnuartoc. H ylwooa Sev sival
povo nxot n Aé€elc. Elval Kal veUpOTA, KLVNOELG, XELPOVOUIEC, ekdPpACELG TOU
TIPOCWTIOU, OTACN TOU CWHATOC... Aev €lval Tuxalo OTL XpNOLUOTIOLOUUE TNV EKdpaon
«YAWOOO TOU CWHATOGY, OE L0 TIPOOTIABOEL vau CUMTEPIAGBOUE OAa TO TTAPATIAVW.
Ye kaBe ywpa, oe KABe Aad, akOpaA Kol TO VEUUA TNG Katdadaong 1 TNG apvnong ivat
Slapopetikd Kal oL dtadopeg duolkd evioxuovtal o€ €vav Tio mepimAoko StdAoyo,
omnou ekdpalovral Ta cuvaLoOnUATA OCWV HAOUY, OTtWG TTOAU cuxva cupPaivel oTig
OELPEG KO TIG Tawvieg. Me duo Adyla, miow amd kaBe Aé€n | dpdon NG YAwooag mou
HAape kpUBovTal TTOAAA: N LoTopia oG Kol To MAPEABOV LA, OL KOWVWVIKEC SOUEG Kall
ocupPaoelg, ol ouvnBeleg, OAOKANPOC O TIOALTLOMOG Hag. OAa aUTA Ta OTOLXELO Kapia
UETAYAWTTLON, 000 KOAN KL av gival, dev pmopel va ta amodwoel. O MPOOEKTLKOG Kal

gevaioBbntog Beatn ¢ To VIwWBEL TNV wpa TG TPoBoARG KoL evoxAeital.

Mati Opwg dev evoxAouvtal Tocol AvOpwrol og TO0eC XWPEC; H amavtnon sivat moAv
amAn: n duvaun TNg ouvnBelag otov avBpwmo cuxva Kabopilel Kol T EMIAOYEC TOU.
Av amo moAU pikpr nAkkia ouvnBiow otn HETOYAWTTLON TWV TOLWVLWY, OL UTIOTLTAOL Ba
pou daivovtal KoupaoTikol Kal amompooavatoAlotikol, Ba pe epmodilouv va

amoAavow tnv Tatvia. Kat to avtiotpodo.
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EpwtRoelc e Baon To KEIUEVO

2t napakatw epwtioels 1-10, va BAAeTe 0 KUKAO TO yPAUUO TTOU QVTLOTOLXEL OTN

uovadikny ocwotn anavinon yla kade pia epwtnon. Movaédeg 30
1) ZVpdwva Pe TO KEIPEVO, OTIG LETOYAWTTIOUEVEC TALVIEG KOL OELPEC:

Q. UTTAPXOUV TEXVIKA TIpoPAn AT

B. Sev akolLyovtal ol dwVEC TwV nBomoLlwv

V. Sev akolLyovtat kKaBoAou ot auBevtikol RxotL

6. o Beatr¢ dev To mapatnpel

2) Zupdwva pe To Keipevo, n Yndlakn texvoroyia Bonbda:
a. TOV UTIOTITALOUO
B. TN METAYAWTTLON
Y. Tov Beatn
6. Toug nBormoloug

3) Z0udwva e To KELPEVO, N «YAWOCO TOU CWHATOG:

a. XOQVETAL UE TN UETOYAWTTLON
B. QVaSELKVUETAL LE TN LETAYAWTTLON
Y. XOQVETAL UE TOV UTTOTITALOMO
6. QVASELKVUETAL LE TOV UTIOTITALOUO

4) J0pdwva e To KEIUEVO, OL YAWOGOLKEG EMAOYEG MOG:

a. elvat nyot ko A&€eLg

B. elval Bépa ouvibelag

2 ouVOEoVTaL LLE TOV TIOALTLOMO HaG
6. ocuvdéovtal e TNV evatcbnoia pag

5) Aev eival tuyaio OtL XpNOWOMOLOUUE TNV EKPPAON «YAWOOA TOU CWUATOCH: TL
SNAwvouV Ta ELCOYWYLKA;

a. Elpwvela

B. HETAPOPLKO AOYO

V. Bavpaouo

6. opdlofiTnon
6) H aAndeia eivar ot n ovyxpovn Ynelakn texvodoyia bivel tn duvarotnta yia pia

ApTIa ATTO TEXVLIKIG MAEUPAG UETAYAWTTLON: TIOLO OO TO TMAPAKATW Elval CUVWVULO
TNG UTIOYPOUHULOMEVNG AEENG;

a. owoTn

B. adlapdopntntn
V. OAOKANPWUEVN
6. EVTUTIWOLOKN

7) Me duo Adyta, miow and kade Aeén n ppaon tn¢ yAwooac mou utdaue kpuBovral
ToAAd: n umoypapLlopévn ppaon:

a. OUUTIEPALVEL
B. ouvoyilel

Y. enefnyel

0 attioloyet
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8) O Jcatnc, dnAadn, Sev akovel TI¢ wVEC Twv nYomolwv oUTE ToUG AUTEVTIKOUG
SLotAOyouc: n UTIOYPAUULOUEVN AEEN:

a. OUMTIEPOALVEL
B. ouvoilel

V. eneényel

6. attiohoyel

9) OAa auta ta oTolyeia Kapioe UETAYAWTTLON, 000 KaAR KL av gival, Sev Umopei va ta
armodwWaoEL: N UTIOYPAULOUEVN TIpOTACN Elval:

Q. BouAntikn — UTtOKE(HEVO
B. BoUANTIKA — AVTIKELLEVO
Y. €vOOLOOTLKI) — UTIOKELUEVO
6. €vVOOLOOTLKI) — OVTLKEIMEVO

10) Kt evw o€ évav EAAnva auto akoUyetal eEwWPPEVIKO, yla EKEIVOUG Eival amoAuta
Aoyiko, Talplaoto kot BoAiko: Pe Tn dpAacn autr, 0 cUYYPAPENG XPNOLUOTIOLEL:

a. avtiBeon

B. avaAoyia

Y. OXN MO KUKAOU
6. QLTLOAGYNON
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MEPOZ lll. NAPAIQIrH AOroy
Mati mpémnet va yvwpilw KaAd tn untptkn pou yAwooa (150-200 AéEeLg);

Movaébeg 40

(Av 0 xwpog dev emapkel, UMOPELTE va CUVEXIOETE OTO oW UEPOG TNG oeALdAC)
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MAOHMATIKA
OEMA 1

Na XopaKTNPLOETE TIC MOPAKATW TIPOTACELS WG OWOTEG (2) N Adbog (A). Na BaAete
KUKAO 0TO X av €lval cwotn 1 oto A, av eivat Aavbacuévn:

i. |0XU€L(Q—B)3+(I3—CX)3 =0 yla kdBea,BEIR.

I A
ii. H e€iowon ox’ +PBx+y=0,a # 0éxel 500 pileg MPAYUATIKES KAl AVIOES OTAV
oLaplBuotl a kat y ival etepocnuot

I A

I. Av U0 Tpiywva €Xouv TPELC YWVIEC LOEC IO TTPOG JLa TOTE €ival (oa.

2 A
. ) yx+06 , , ,
Iv. H napdotaon (x+ a)(X—B) , oplletaL otav X #—a NX#P.
2 A
V. Av a <0 kot >0, tote L0)(L')£LJ—0L-B=\/—OL-\/E.
I A

Movadeg: 25
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OEMA 2
Av A(x) = 3x(2x —9)—2x(x —3)2 +2(x +2)3 —13 kot B(x) =2x>+5x—3
i) Na arodeifete 6t A(x) =30x* —21x+3

Movadeg 10

ii) Na AUoete tnv e€lowon B(X) =0
Movadeg 7

A(x)

B(x

iii) Na artAomoLoETe To KAAoUQ K(X) =

Movabeg 8
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OEMA 3
Ze L00OKEAEG Tplywvo ABI pe AB=Al, €¢otw BA kat lME ot
Syotopol Twv Ywviwyv B kat I, ol onmoleg tépvovral oto Z.

i)  Naanodeifets 6t BA=TE.
Movadecg 10

i) Noanodei€ete ot ta tpiywva EBZ kat EBF
elval opola.
Movaddeg 7

ili) AvEZ=4 kai Er=9, va umoloyioete to priKog tou EB.
Movadeg 8
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OEMA 4
Ou mAeupeg AB, AT evog tplywvou ABI Bpiokovtal otig euBeieg g, : —3x+ 5y =18 kau

g, :4x—y =—7 avtiotoa.
i) Na Bpeite TIq CUVTETAYUEVEG TNG KOPUDNG A.
Movdbeg 8

ii)  Av oL kopudég B kau ' Bpiokovtan otnv euBeia €,:y=—3 va Ppeite g

OUVTETOYHEVECTWVY Kopudwv B kat I.
Movadeg 8

iii) Av Ol OUVTETOYHEVEG TwV Kopudwv ToU Tplywvou ABI eivaLA(—1,3),
5
B(—ll,—3) Katr(—i,—.%), TOTE:

a) Na oxebidoete 10 Tpiywvo ABI oto opBoywvio cUOTNUA CUVIETAYUEVWY TIOU
Silvetatl otnv emoépevn oelida.
Movadeg 6

B) Na Bpeite to eppadov Tou Tplywvou ABT.

Movabeg 3
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